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Review for the Chapter 2 Test: Functions
Honors Precalculus

Directions: work in groups of 4 to complete the following problems. Call me over if you come across any
particular questions. The test will be almost entirely on Chapter 2 material, but there will be a review
problem or two from Chapter 1 (similar to the chapter 1 questions from the quiz),

Chapter 1 Review:

(#1-2) Solve for x on each equation below.
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Determine the average rate of change for the function f(r) = £ — 2¢ betweens = 2 and ¢ = 5.
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Xy X 3
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If f(x) = 2% + 1and g(x) = x — 3, find the following. 3 \
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5.) Function Decomposition:
Letf(x)=9x g(x)=v4x+8 hix)=4x? t(x)=2x-5

Express each function below k(x) as a composition of 3 out of 4 of the functions above.

a.) k(x) =v144x? + 8 b.) k(x) = 708
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5:) Sketcsh a graph of the function and parent function below without a calculator. Write the 4™~ #0x 500
S transformations in words and then state the domain and range. Be sure that at least one point is in the

'“:j sucorrect Jlocation (also note any asymptotes on your graph with dotted lines).
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INVERSES:
6.

Q) If f{x) = V3 — x, find the inverse function £,
(b} Sketch the graphs of f and 7! on the same coordinate axes.
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(a) Find the domain and range of f.
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Which of the following are graphs of functions? If the graph is that of a function, is it
one-to-one?
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8,)Letf(x)=[ 2x —4 forx>2

a.) Evaluate f(0) and f(4)

£(o) = (0 ) T~
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b.) Sketch the graph of the piecewise function above.
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9.) Let f(x) = 2x*-10x? - 5. Note: Partais just a sketch on the graph below.
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(a) Draw the graph of fin an appropriate viewing rectangle.
(b) Is f one-to-one?

(¢) Find the local maximum and minimum values of f and the values of x at which they
occur. State each answer correct to two decimal places,

(d} Use the graph to determine the range of f.

(e) Find the intervals on which f is increasing and on which f is decreasing.

f.) Is the function even, odd, or neither.
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Function Modeling.

10.) Find a function that models the surface area S of a cube as function of its volume. (

. 5B \ 2 S=SdeolP Mo s
=5 sa = 6s* i
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Height The volume of a cone is . Find a function that models the height & of the
cone in terms of its radius r. ot of o tane
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12.) CHALLENGE! Q,\ " j 5 OO given

E 23, Fencing a Garden Plot A property owner wants to fence a garden plot adjacent to a
road, as shown in the figure. The fencing next to the road must be sturdier and costs $3 per C T hHy 43 4+ 6
foot, but the other fencing costs just $3 per foot. The garden is to have an area of 1200 %, j

(a) Find a function that models the cost of fencing the garden,

= sy = Q
(b) Find the garden dimensions that minimize the cost of fencing. C &x * 6 j B g _‘3_:—("
(¢) If the owner has at most $600 to spend on fencing, find the range of lengths he can fence * '
along the road.
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